kB ERX

A 20154E7 A3 H(H) K E321a] R E/ AR B AN S = B T Ka=a—FK 16240004 [N C R Al i)
JAAF 32 | = UL MR LB E K& [ S 11 N
Wt 4 (—Bf) = Embe L he o—R24 BCxHNE LA ER
Ef M A4 AR A S e i MIE BMEFHEHNE =W 7TH
BiE4 ZHAZAWMG AR — YO G E B R Wi —R 243100 2K — kR AEIEE
o kO [WME A
ER FEH i o 3 53 50 601 ThL 53
1hsp | B eom [KA ) 9.39(¥& N5 K IA3) 9.61|tEE  &EOB) 9.62| LM #HEB) 971 B=HE) 9.75|fn M 4EK(3) 9.76|FAK  R(3) 9.905 A  #EQ) 9.91
JEL:+0.6 B ) W UK EFFAT J&BAJE =N 4 RC MEFSC Kekg Ly
Thsp | B4t 100m (M0 HFRHA) 14.24| 54 —43(4) 14.53| /@ Blak(4) L1458 A1l FLE(4) 1499k KA (4) 15.03[ A 25E(4) 16.04| RPY BtiEi(4) 165.06| JJR JAn(4) 15.14
J:+0.8 DD FERC BishE DD N FERC DD N FERC DD FERC WRHE /N JACH. L F— LGN[R
TRsn | B 100m K IEFRG) 13.78| %% BEt(5) 14.31(16  BRA(5) 14.38(# 5 () 14.40(I0jH  KI(5) 1453(8H  HR(5) 14.54 (1K ELK(5) 14.58( A HeAbf(5) 14.70
JT:+0.7 LRI 7 )1 D Wik ESC P& A ERC )1k Wik ESC JHEE e B3P/
1Hsp | e 100m AR KEHE) 12.72| i HEEL A ER (6) 12.84|FHENFE -(6) 13.16|F 5 2/ (6) 13.27(¥0 4%2H(6) 13.49[8J1 B 2:(6) 13.67|FE/m BLE®6) 13.787% M pkF(6) 13.81
J&:0.0 DDA ERC = )1JrfE k — i5Beast e Ry ASSA-TC PO FERC 55 Ji T)—=AGA)V
138 | ®% soom sz #%(6) 2:22.69|FtEk  75(6) 2:25.62(1LJ11 EHE(6) 2:27.55|" % $hRE®6) 2:29.87|H . BX6) 2:30.23|4 )11 f$(6) 2:30.51 |85 Hik(6) 2:32.06|#A M #LE6) 2:33.01
)1k Rk Bilron=ry )ik —%5Beast )1 ASSA-TC )1l e
thsn | 9 somn [HEF ) 12.711[H #51(6) 12.81 (A KA (6) 13.28| =i XFu(6) 13.45( 1)L HiR-1-(6) 13.53% —H(6) 13.69[J11 B 71(6) 13.78[B A J7HL(6) 21.52
JA:+1.9 REEFRC % RC —5Beast EFAT Kid/h — ek b £ EEEpE Fy
W} ERC-A 52.15|ASSA-TC-A 53.71|—EBeast-A 54.24|pEBA e -2 54275 J1Jrh b 54.38|5F — LGHARE 55.31|PIRHISC 55.96| & EERE - 7-A 56.94
HilE () Gk f&E(6) e HisF6) L & E(6) [ HE KRR (6) WA ZRJE(6) i BEG) [ FE2H6)
TH3A | BF 4x100mR |Fi)l] E2%6) 50 %21(6) HR R 6) FE 28:(6) [y S e () b 51} () i BEA(5) Befn #EE6)
Ak 2 H(6) SR i) rIN BEE(6) AR mr6) TN k) KW ZFE6) JI=R=CIN(! Pal FEk(6)
NN G BKH FiAi6) W N (6) 4k HE6) NiqE Bi6) Tl FEZE(6) 4 HEUREA6) KB FH6)
i SN Im35| 4l JE(6) Im30| Ve $hth(6) 1m25|/NBF dt(6) Im20| A #oK(5) 1m20| LA A ER(5) Iml15
[SEFEN Sun TFC e/ e kY ek ks fu I
e L 56! 1ml5
TH3E | BT EwEk SN
WA BEeG) 1m15
ffile b Jr
asn | my wwm [P Bifi(6)  4m69(+2.6)[kH F=K(6)  4m65(+3.8)|WESF STHi(6)  4m65(+2.5)[  #i3H6) 4m54(+3.0)[ KRB Fk6)  4m49(+2.0)|EE HUKG6)  4m22(+2.3)|E I #FH6)  4ml18(+2.5)[E M mISk6)  4m08(+2.5)
ASSA-TC 2AFRAmA9(+2.0)| B JE [ |- ARAm3462.0)| [EIFFAT AFRAm52(+:2.0)| SMAC NRaEaL| R - — /)5 AFRAM13(+1.0)| ] & B/ AFRAmO9(+1.7)| R EE R |2 JAFAMO0(+1.6)
asn | BT NG 53m17 (A FHEE(5) 52m88|BEf 5 (6) 50m32|FAH - 3K (6) 47m62| KL Btk 6) 46m78|[i] [ Fis(s) 45mb56 |l {5 (5) 44m51|357K  HHE6) 44m03
A | I JAC EAST HEERE Ry Z&RC HEERE B 1 3EAIRC s/ B L
1hsn | &8t eom |FHG FnZE(3) 9.40|f& M #7J5(3) 9.51|4bR LR(3) 9.61|1LA EY(3) 9.61| =@ 137203 9.66/| A1 HE T35 (3) 9.80[fm M FEA(3) 9.82| 1T L3E(3) 10.04
J:+1.4 S o CR|[Fg %L [ GR[EE /)N Pk FHSC *TK | 5/)N PEARE Eeaig Jbimke o
1h3p | ZFAFE 100m e SEEIE@ 14.68[E  EFL4) 14.78|/MK P (4) 15.09| =il BE5H(4) 15.10( %% ik A F@4) 151821 HE4) 15.25\ K05 #5(4) 15.40
JE:+1.8 S o SMAC ] H fe - A LFAA ke - WPHHERC — & Beast
773@ | KT8 100m Il BEA®B) 14.23| 8 &= 54(5) 14.42(1UA 4&#5k(5) 14.61|4H  #5(5) 14.76|4H () 14.81HF 1£3k(5) 14.92|3% 1L PEER(5) 14.93| L& M-24(5) 14.94
) J:+0.5 JbikepE -y — i Beast FEARE Y Jbikepe -y % %RC B WOHRLRC Y.W.C
753p | X6 100m ity #E3E®) 12.98[ LA E3(6) 13.71|[® £ H(6) 13.76| =& FnZ=(6) 13.94(miJ1l #E4&(@6) 13.97[} 5 5£22(6) 14.05[ B8 K3k(6) 14.19[7k B E2(6) 14.35
J&:+1.0 bl N ESC =) 1)l F— LGAE 2/ ASSA-TC F— LG E =) 1)l
138 | %3 soom [FEHF EI6) 2:27.08|4EHF EFH(6) 2:33.02|Z 11 ¥2R(5) 2:33.62[ 8 8F LAR(5) 2:35.39| = AHiER(6) 2:38.18[# 1 ELR(6) 2:38.63| 1T #E(5) 2:40.25| = 5 2 {E(6) 2:40.28
URC KE,GR| FEFAC F— LGRAE )1k B L URC )k —ipE
1sp | &F 8omH THK & (6) 13.15[fA 427K (6) 14.40( iR VE(6) 14.61| 585 B2HR(6) 14.96|H: 11997 1%(6) 15.05| KA LZE®5) 15.35|5 4 Hh3F(6) 18.03| M IH2E(6) 19.35
JR:+1.6 IEFSC JEAEAC ALTAA EFAT —75Beast URC —5Beast PR SC
R Lo-A 53.14|f#4L/]N 53.96| NI HSC 55.49|ASSA-TC 57.31|F—LGkARE 57.33|/E4AC 57.34| KILIHAC 57.67| & )1JrE 58.16
A #6) KE,GR|FHH Z=x(6) AR #E6) L % Jh6) Hil WZ=(5) WA A (6) ITiE $81E(6) Lk e )
TH3A | kT 4X100mR | A TFZ4 % {E(6) /bR B R(6) AR 2 ARE) A 3622(6) =E A BN () +FH72>7(6) AT #4(6) KH FE®6)
fEHE  Z86) il SEFE) 1 EB A7 7EU(6) HH2ELAG) P Ak(6) EIE3::==() % &6 B 3% H(6)
e JaI6) i 30) (LA E3E6) B Th%E6) JERIE JE(6) AR AH5k6) B FTE6) B WHEG)
/bR ERFIR(6) 1m28| & i 7 FE(6) 1m28| K =H(6) 1m25| LA E#E(6) 1m25|#5 4k fEAn(6) 1m20| 7 &37(6) 1m20|)I[& EHx(6) 1m20| if FH #i4< 35(6) 1ml15
SN EHIES N M HSC EAAC Hd =N JTACH.IL SMAC K/ MLy
B EEGs) 1ml15
MRy
138 | k7 e BT #076) 4mb2(+2.0)[A&R 0 FuB6)  4m40(+1.3)|thA H3EE6)  4md40(+1.4)|HFHAroA6)  4ml4-1.5)|HME ZF=H(6)  4m05G+1.0)[JI0 #PHEG)  4m03(-0.3)|:EHE fEFL6)  4m03(-1.0)|BL[H E4T(5) 3m98(0.0)
"7 KEAC JACHIL — 7= Beast JEAEAC PR EEERE 1Y A LTAA S
13| | . &T L 16 50m96|5E M 5 Z(6) 40m36 /%5 H k9 £E(6) 3TmO02|%Ht W$(6) 36m80| & M 3E75(6) 36m30|B4F #17-(6) 34m43|PHEF 5EEF6) 32m93| Kkf —2E(6) 32m58
VNIV BRI b £ Jeiepi B W TUK Al b Jr KILEAC e SN %5 RC
Jeipi Er-A 57.03[—5Beast-A 57.68|pEZApE [ 57.87|Ppb A3 ERC-A 57.88|URC-A 58.02() [k F/b>-A 58.21[&—/Is 1:00.06| % B [ 4> 1:00.08
A HHG) EARTEYRF(5) i SETEGQ b BE@) 15 BIEGB) Ve A [ER1-(5) TR EL(5) A WEG)
TH3A |k 4x100mR |d)l] B/ (5) Bl ZRG6) A &%) Mmoo K@ KR LIEG) NS NE 3 (6) B k() [ % T4 (5)
1% FHHG) 2 (5) I B6) fEH TR USIZAING) 2 BEEG) A ZEG) 2 e K 2(5)
)i EABG) 55 EEEG) 2 C) 220 P SIABING) i PN HG)) —£ JEMG) e RA6)

JUB KE:J/NVFRtsk GRR RSk *TK: 5 250




